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Y3002 =4 (ZEFT) 13| 11,605 1,512 378 378 | BN 13kg
31900 AX 1 864 86 86 86| &M 1088
Y3033 ZHMAAT 120 7,992 216 22 22| B © 120kg
37200 | L X 9 A8 5 8, 154 648 648 540 | B 13kg |
Y3071 AT 1 389 65 65 65| B A4
34800 <L 5 6 3, 467 65 54 54 BN 61> h
36340 & LN EE 8] 4,320 648 648 216 | BN 8kg |
37600 | x 5 5 2,538 864 324 324 | BN 5kg
49100 | ~FF 15 2, 484 864 864 270 | B N
49470 Ny arT— ' 8 7, 344 92 92 92| B 8OfE _
71040 ENE 1, 080 108 108 108 | B 104
71150 | LT 2,376 119 119 119 | &R 207k
71181 (R KLV FT o 972 32 32 32| &M 304
VY3048 T v ¥ o w0 ! 18| 3,780 216 216 216 | B 18kg
30100 72\W\WZ A L 50 5, 400 108 108 108 | {bifEE 504
30100 7FW I A S 67 9, 331 119 108 108 | 7% 847K
30300 A% L | 50 4,860 | 972 | 972 972 |dkiEsE 54—
31100 A¥ 30 7,560  3,780| 3,780 3,780 | E& 25—
31100 | E3% M RS 8,424  2,916] 2,916 2,700 K% 3 —2
33500 7 &4 L 1 778 65 65 65 |4 1288 |
33703 | H 9 648 65 65 65 1E M 108y b
37440 x\bih 896 896 896 896 B 1r—2
Y3072 _E—U— 3, 888 130 130 130 | REA 304
31700 % 4~ | 150 22,896| 1,620 1,512 1,512 |fEA 154 — 2
31800 1EHINAE ; 12 9, 396 173 162 146 | FEVR 5 604%
31930 Zh¥ [ 9 8, 640 108 86 86 | & 9048
34300 72 L | 20 5,724|  1,512] 1,404 1,404 |REA ar—= |
. 34300 A2 B |2L | 1,296 1,296 1,296 1,296 |Kk4y 1 —z |
34320 RUVFET ' 875 49 | 49 16 | HEA 24 |
34400 k-~ h 12 6,318| 2,160 2,160 1,998 FEA 3z |
34460 I =L F b M ! 1, 620 270 270 270 | K4y 6%
34460 I=LF L 2'S 1 864 216 216 216 | BEA I
34100 #/K 2L 55 16,092 1,620 1,404 1,404 |fEIRE 114 —%
34100 HUK L 20 6,480 1,620 1,620 1,620 |fEAK 4 —2
34200 BN 29 4,093 151 151 119 | drgiE 29kg |
34571 R7U A (R 1 1, 296 162 162 162 | &8 81H
34572 ST UG (&) 1 1, 296 162 162 162 | #[E] 81H i
36200 HEnE 3L 200 13,176 1,080 540 540 | FE: 204 — %
36600 7-Eiax 120 12,960 2,376 2,376 1,944 | timE 64 —A |
Y3027 Ly R-Fh¥ 5 1,123 238 216 216|==—U— 5Xv k- |
| TR
33400 L Z X 9T 12 4,147 173 | 173 173 | E 5 2408
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=t g SRk R (kg) 248 (1) =i o & PE (KAL)
33410 Yr=—L & R L 6 2,592 108 65 65 R 30(H

32900 &) — B 1| 324 324 324 324 B 1A
33600 /<& U a 1) 1,188 324 324 270 148 448

38100 4 LW =it 2 1,728 86 86 86 | B IEF 20,3y 7
Y3065 AL —ha—y 2L 4 1,685 130 130 130 dt#gE 13k
31310 [BTH I 8 3,888 97 o7 o7 Wl 4088
31500 /AR 16 8, 424 | 108 108 97 EIRE 8048 B
37560 BT 1 3, 780 432 432 324 | K45 10y 7 |
38400 2D EH 15 1,674 12 11 11 BIRE 1504%
38521 | SR LHUE 3| 1,080 43| 32 32 | 4B 3048
40100 | ZA3A 2s w0 2, 160 540 540 540 REA 4l —=
42850 EMD A 10 5,616| 5,616 5616 5 616 H& 17 —2
Y4016 HronB 10 5,400 5,400 5,400 5,400 EHZ 1r—= |
Y4016 FLon8B 1 20 2,592 1,404 1,404 1,188 R 2r—2 |
43140 B L ; 10 2,484|  2,484| 2,484 2,484 K4y 1r—x |
43613 | RAEEHMNX B 40| 4,860 1,296 1,188 1,188 ‘&M ahr—= |
14020 &7 Ui 75 25,272 2,808 2,808 1,620 FuEkil 1047 — %
45230 Bl Y5 12 6,912 1,728 1,728 1, 728 | fE Ahr—= |
45230 EERY S 6 5, 702 302 281 281 | f&[H 205y |
45231 FE LEIE 15 13, 068 | 270 270 248 | BEA 505y |
45240 EA—FRE D 9 7,560 270 248 248 | FEAS 30,8y 7
49100 | SFF 120 16,524 2,160 1,620 1,296 7 ¢ U B 107 —2%
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